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COMMERCE
Paper — 11

Note : This paper contains fifty (50) objcctive type questions of two (2) marks cach. All

1.

questions arc compulsory,

Assertion (A) : Corporate culture 1s generally considered as either closed and threatening
or as open and participatory,

Reason (R) : Corporate culture and style ol functioning of top managers 1s important
factor for determining the internal environment of a company.

Codes :

(1y (A)is correct, but (R) 15 mcorrect.

(2)  Both (A) and (R) are correct and (R) 15 the correct explanation ol (A).

(3)  Both (A) and (R) are correct, but (R} is not the correct explanation of (A),

(4y (R} 1s correct, but {A) 18 incorrect,

Statement I : Il the workers develop an attitude of non-cooperation with Management, a
repressive cconomic system may be necded to set right this industrial disorder.
Statement II : By fulfilling social responsibility towards sharcholders, cmployees,
consumers, government and community, a business achieves economic growth and
mcereases public image.

Codes :

(1y  Statement I 1s correct, but 1118 incorrect.

(2)  Both the statements I and IT arc correct.

(3)  Statement II 1s correct but I 1s incorrect.

(4)  Both the stalements are incorrect.

Match the 1items of List-I with List-I1.

List -1 List — IT
a.  Planning Commission . 1993
b.  Competition Acl . 2002
¢.  Adrian Cadbury Commitiee . 1951
d.  Rangrajan Committee on  Disinvestment 1 1v. [99]
PSEs
Codes :
i b ¢ d
(1 1 ii i1 v
(2). aii i v ii
(3) 1 11 iV i
(4y 1 11 i v

From which Five Year Plan “Growth with Social Justice™ has received emphasis 7

(l} 5[[] (2) 6[[]
(3) 7" @ 10"

Paper-II 2 JA-008-17
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Which of the following is not the objective of the Competition Act, 2002 7
(1} Prohibition ol Restrictive Trade Practices.

(2)  Prohibiton of Dominant Position

(3)  Prohibition of Anti-competitive Agrecments

(4)  Regulation of Combinations

Consolidated lnancial statements are prepared on the principle

(1} In lorm the companies are one entity, in substance they are separate.
(2) Intorm companics arc scparate, in substance they are onc,

(3)  In form and substance the companies are one entity.

(4y In form and substancc the companics arc separatce.,

Match the ttems ol List-1 with those of List-11 and indicate the correct code :
List -1 List — II
a.  Acid Test Ratio 1. Proltability analysis
b. Dcbt Scrvice Coverage Ratio 1. Activity analysis

Debt Equity Ratio . Liquidity analysis
d.  Stock Turnover Ratio 1v. Long-term solvency analysis
Codes :
al b C d
(1) i i 11 IV
2y i i v i
(3) ul v [ 1
(4) 1 i iv ii

From the following two statements of Assertion (A) and Reason (R), indicate the correct

codles

Assertion (A) : From the marginal costing approach point of view, the margmal cost 18
comparcd with the purchase price,

Reason (R) : If the margimal cost 1s less than the purchase price 1t should be purchased
rather than manufactured.

Codes :

1y (A)yand (R) both are correct.

(2)  (A)is correct, but (R) 1s not correct.

(3)  (A)isnot correct, but (R) 15 correct.

(4) (A} and (R) both arc incorrect.

Which one ol the following statements 1s true about standard Tabour time ?

(1} Standard labour time indicates the time tn hours nceded for a specific process.

(2)  Itis standardized on the basis of past experience.

(3) In fixing standard time due allowance should not be given to fatiguce and tool sctting.

(4)  The Production Manager does not provide any mput in setting the labour time
standards.

Paper-II 4 JA-008-17
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1, Under the yield method ol valuation of equity share capital, 11 for an equity share ol ¥ 30,
the normal rate of return is [0% and cxpected rate of return 1s 3%, then the value of an
equity share will be
Yy T2 (2y T40
(3 T30 (4y T 100

11. Match the items of List-1 with the items of List-11 and denote the code of correct matching,
List -1 List — II

a. Hypothests o Sales  Revenue 1. W.J. Baumol
Maximization

b. Hypothests ol Maximization ol 1. Robin Marns
Firm’s Growth Ratc

¢. Hypothesis  of  Maximization of 1. O.E. Williamson
Managerial Utility Function

d. Hypothesis of Satistying Behaviour iv. Cyert and March

Codes :

a b C d
Uy di 1 111 1V
(2) 1 11 1 1V
(3) 1 1 111 1V
4y 1 v 11 11

12.  Which of the following is not a correct matching with regard to price elasticity, change n
pricc and change in total revenue 7

Price elasticity coefficient | Change in price | Change in total revenue

(ly Zero Increase Increase
Decreasc Decreasc

(23 Lcss than one Increasce Deccasce
[Decrease Increase

(3) Equal to onc Incrcase No changc
Decrease No change

(4} More than one Increase Decrease
Decrease Increasc

13. The short-run production function for a firm 15 as follows :
0 =T 5125 100
Where @ denotes total output in physical units and L denotes units of labour which are
homogeneous. but are not perfectly divisible and change in laubour does not tend to
hecome zero.
Statement I : In this production function, the marginal product of 5™ unit of labour is 83.
Statement TT : Similarly, in this production function, the average product of the 5™ unit of
labour 1s 60.
Codes :
(1) Both the Statements are (rue.
(2} Both the Statements arc false,
(3)  Statement [ 1s true, while Statement 11 1s lalse.
(4y  Statement I 1s false, but Statement I1 1s truc.

Paper-II 6 JA-008-17
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The Kinked demand curve model of oligopoly was developed by

(1) Augustin Cournot (2)  Stackelberg
(3}  Edgeworth (4)  Sweery

For the success of the penetration price policy, which one ol the lollowing is not
desirable ?

(1) Short-run demand for the product to have elasticity greater than unity.

(2)  Avalability ol economies of large scale production.

(3} Product to have very low cross-clasticity of demand.

(4)  Easy acceptance and adoption of the product by the consumers.

Statement [ : The absolute value ol the dilference between an unbiased estimate and the
corresponding population paramelter 1s called sampling error.

Statement II : Multi-stage sampling 1s a restricted non-probability based sampling
technique.

Indicate the correct code :

(1) Both the Stalements are correct.

(2)  Both the Statements are incorrect.

(3)  Statement I 1s correct, while Statement I 18 incorrect.

(4)  Statement | 15 incorrect, while Statement I 1s correct.

Muatch the following items of List-I and List-1T with regard to hypothesis-testing and
mcicate the code ol correct matching.
List -1 List — I1
a.  The ability ol test to reject the null hypothesis when 1. Level of significance
it is false.
b.  The probability of accepting a false null hypothesis. 1. Type [ error
c.  The probability of rejecting a true null hypothesis 1. Type I error
duc to sampling crror.

d.  The probability of rejecting a true null hypothesis. 1v. Power ol a test
Codes :
3 b ¢ d
(ly v 11 [ i
(2) v i1 I il
(3) 1 I 1l v
(4) 1 11 i 1V

Which one of the followimg 1s a false statement ?

(1}  The signs of the regression coctficients are always the same,

(2y  Correlation coellicient 1s the geometric mean ol the two regression coefficients.

(3) The co-variance between two vartables divided by the product of their standard
deviations produces the value ol coellicient of correlation.

(4y  Coelhicient of correlation 15 independent of origin but not ol scale.

Paper-II 8 JA-008-17
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19. If the two regression coctficients are 0.8 and 0.2, then the value of coefficient of
correlation 15
(1y -0.16 (2y  +0.50
(3) +040 4y -0.40

20,  Process of arranging data into a new order 1s called

(1} Manipulation of data (2 Standardization of data
(3)  Sequencing ol data (4 Standardized input

21, Developed by the Special Projects Office ol the U.S. Navy; this technique was [irst
tormally applied to the planning and control of the Polaris Weapon System in 1958 and
worked well in expediting the completion of that programme. The technique 1s known as
(1y  Gantt Chart (2y PERT
(33 CRM (4)y  Milestone budgeting

22, Consider the following statcments relating to planning and tind out which of the following

are correct

Statement [ : The operating personnel should not be associated with the preparation of
the budget,

Statement IT : A programme ndicates the principal operations to be carried out 1o
accomplish a work.

Statement III : Under MBO technique, the Managers should be provided with a frechand
to laydown the objectives.

Codes :
(1y  Only Statement [ 1s correct, (2)  Only Statement 11 15 correct.
(3} Only Statement III 1s correct. (4)  Only Statcments [ and I are correct.

23, Assertion (A) : Sympathetic listening i upward communications often leads 10
rescntment in communicator,

Reason (R) : Sympathetic histening and encouraging remarks often lead the
communicator to believe that his proposal will receive action not contemplated by
supertor (communicalee).

Codes :

(1y (A)1s correct and (R) 18 the right explanation to it.

(2 (A)iscorrect, but (R) 1s not the right explanation to 1t.

(3)  (A)is not correct while (R) 15 a correct statcment.

(4) Both (A) and (R) arc incorrect.

24.  Assertion (A) : Herzbere believes that today’s motivators arc tomorrow’ s hyeienc factors,
Reason (R) : Some job condivons operate primartly to dissatisfy employees when they
arc absent, but their presence does not motivate them in strong way.
Codes :
(1y  (A)and (R) both are correct and (R} 15 the right explanation ol (A).
(2} (A)and (R) both are correct, but (R) is not the right cxplanation of (A),
(3)  (A)isnot correct while (R) 15 a correct.
(4) Both (A) and (R) arc incorrect.

Paper-II 10 JA-008-17
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Which of the following statements relating to Henry Fayol are correct ?

Statement [ : Authority and responsibility are related and former arises from latter.
Statement [T : Espirit de Corps 15 an extension ol the principle of unity of command.
Statement [TT : Unity of command means only one command at a time,

Statement IV : There arc fourteen basic principles identified by Henry Fayol.

Codes :
(1) Statements I, 1T and 1V (2)  Statements 1T and 11
(3y  Statements I and 1V (4y  Statements IT and TV

Match the following 1tems of List-I (sourccs of competition) with List-IT (cxamples for
these sources ol competition) and indicate the code ol correct matching,

List — I List — 11

a. Dircctly similar products 1. OLA Taxi and Metro Rail

b.  Available substitutes 1. Mercedes and BMW

¢.  Unrelated products . PVR and Amusement park
Codes :

3] b C

(1) 11 i I
2y 1 i1 i
(3 1 I i
4y 1 t i

The marketing task which finds ways to alter the time pattern of demand through tlexible
pricing, promotion and other incentives 1s called

(1) Demarketing (2)  Synchromarketing
(3)  Fleximarketing (4y  Gorilla Marketing
Which ol the lollowing 1s not a reason lor a [irm 10 lose 1ts market share to compettors 7
(1) A product/model 1s perceived by the target customer group as satislying needs.
(2)y  Customers not being covered by the company’s sales force and distribution outlets.
(3)  Customers may have been lost to competitors due to poor service by the firm or its
sales personnel or product becoming obsolete or more expensive.
(4)  All the above are correct reasons for given condition,
Match the 1items of List-1 with List-1I and denote the code of correct matching.
List -1 List = 11

a. Invest Strategy 1. Noreceiving of new resources.

b.  Protect Strategy 1. Well linanced marketing efforts.

c. Harvest Stratcey i, Selective resource allocation

d. Divest Stratcgy 1v. Not warranting substantial ncw resources.
Codes :

3 b ¢ d

(ry 1] 1V i
2y i 111 1 1V
(3) 1 I Y 111
(4) v ] 1 i

12 JA-008-17
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35, T G © WElUE i § e TR E Y
FUT — 1 W 3R STeee Hatyd & 3% UIeRR sliaa] € 3e7-1 g1l & |
FRA 11 @ 37&S & U] & (Oaid % [a@R Hhie & # ¢ |
HeA — [T ¢ 2799 7 Usha] 7 277979 Ueh TFg § Uh 2] SR AT |
T -~ IV 1 & A 51 HEE Hot gt Sl TEd T E
A
(1) L1 ATIV (2)  FF L ST

(3) HF AR IV (4) I AR IV

26. A1 N U (A€l % |id) W Hel-1] H HE7 (WAl % 3 @idl % folw 33RO % 9
et 6T a1 T 0ot aTel 62 1 T3 &Y

= - 1 = - 1

A, VeI BT g WY IS i 2T 2ol W T2l I

b, FTCTE U~ i, TN Ud 9.0, g5,

¢, TG 30 i, O 9l 3T UE AR U
%< ;

a b C

(1} 1m 1 1
2) i i i

(3) 1 i1 11
4y 1 1 11
27, = Tavom e fo gl gea Fier, TeeT a9 S WA o T 9 T o gng e
(1) fafe (2) g faoe
(3)  eArerele oo (4)  TiifeeeT fEaoe
28, TIHISRd H ¥ 1 [l BH o [0 310 WIcedl€dm sl go1 7 319+ a1 63T JI+ %1 10T 76l
T
(2) I S fasT SHEET a7 Aot ST 51RT WSl Sl THEe] 761 61 8T 6 |
(3y  THdT W 379ar THER TEeR SHITEeR g1RT Sea] 9aT Ve TR S 2T9ET 3T & SgEiad gl
S 3T0ET 31746 HedT 819 5 ShIUT ITUEAT Wasael ®al & Icdle/Hied] Eiig o d & |
(4) T TS Ty T SEE T BT WE

29, g1 F TET H GA-[] I UET o 1 T B T T8 Tt aTel e w1 T H

T - 1 T - 11
a. TS IO i, U TETEAET T U T8l gl
b, S=TE IO i, AT fEmoNe EOE v
c. 3T LI i, TEETEHE TETEE 3TEeA
d. Tafeersr T iv, 277YeR T T AT FEEAT S SATeE A8l 8]
ohd ;
a b C d
(1 n 1] 8% 1
(2% i i1 i v

(3) i i iy i
(4) iv i i i
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An claborated version of the idea expressed in meaningful consumer term is called
(1) Product image (2} Product idea
(3)  Product concept (4}  Protolype

Which one of the following combination ol rules stands true while preparing schedule of
changes in working capital ?

A, Anincrease in current assets increases working capital.

B.  Anincrease in current assets decreases working capital,

C.  Anincrease in current habilities decreases working capital.
D.  Anincrcase in current liabilitics mcreascs working capital,
Codes :

(ly Aand D 2y AandC

(3y Band C 4y Cand D

Assertion (A) : The primary motive of a company in using financial leverage 1s to
magnily shareholders™ return under favourable economic conditions.

Reason (R) : To magnily shareholders” return lixed charges funds can be obtamed at a
cost higher than the firm’s rate of return on net asscts.

Codes :

(1) (A)iscorrect and (R) s the correct explanation of (A).

(2)  (A)iscorrect, but (R)1s wrong.

(3)  (R)iscorrect, but {(A) 15 wrong.

(4)y  Both (A) and (R) are wrong.

Debt lnancing 18 a cheaper source ol finance because of
(1Y Twme value ol money (2)  Rate ol interest
(3)  Tax deducubility ol mnterest (4)  Dividends are not payable to lenders

Which of the following 1s not true with refercnce to capital budgcting?
(1y  Capital budgeting 1s related to asset replacement decisions.

(2)  Costol capital 1s equal to minimum required rate ol return.

(3)  Tuming of cash fTows 1s relevant.

(4)  Existing investment in a project 1s not treated as sunk cost,

Which of the following statements 1s not correct !

(1) The cost of capital 1s required rate ol return to ascertain the value ol the firm.

(2} Dilferent sources ol funds have a spectlic cost ol capital related (o that source only.
(3)  Costof capital docs not comprisc any risk premium,

(4y  Cost of capital 1s basic data for NPV tcchnique,

Which of the lfollowing 15 not the quality ol human resources in any organization ?
(1}  Their behaviour to stimuli 15 often mconsistent and unpredictable.

(2)  They depreciate with passage of time 1n terms of skills,

(3)  They arc heterogencous.

(4)  Retaining gquahified human resources 1s a challenge for managers.

Paper-II 14 JA-008-17
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Human Resource Planning benctits to an organization arc rcflected in which ot the
combination of the following 7

a, Balance between demand and supply of human resourccs,

b.  Non-compulsion on managcment to asscss critically and continuously the cmployvees
and personnel policies.

& Duplication of efforts and conflicts arc avoided,

d. Mintmizing the future returns on mmvestment m human resources.

Codes :

(1Y aandb (2 aandc

(3) a,bandc (4y a, candd

A statement containing items such as job title, location, summary, dutics, materials used,
working conditions ete., 1s called

(1} Job specification 2y Job evaluation

(3)  Job description (4)y  Job analysis

Match List-1 with List-II relating to theory of wagcs.

List -1 List - IT
(Wage Theory) (Propounder)
a.  Wagce Fund Theory . John Davidson
b. Subsistence Theory . David Recardo
¢.  Residual Claimant Theory . Adam Smith
d. Bargaining Thecory of Wagces v, Francis Walker
Codes :
il b % d
(1) 1 v i i1
(2} 1 Il v i
(3) v I 11 il
4y i 11 1V I

Which organizational analysis mcthod 1s used, among the following, to develop various
cfficiency indices relating to contribution of human capital in mecting the organizational
voals 7

(1}  Objectives analysis

(2)  Resource utihzation analysis

(3)  Task analysis

(4)  Oreanizational climate analysis

Paper-II 16 JA-008-17
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Match the items of List-I with the items of  List-II regarding evaluation of project
apphication and suggest the correct code.

List -1
a.  Managerial Appraisal
b.  Economic Appraisal
¢. Financial Appraisal
d.  Techmcal Appraisal

Codes :

a b C
(15 g ¥ v
(2y 1 1 11
(3) 1 v 1
(4y v 1 1l

List - 11

. Analysis of working results,
1. Disposal of factory ellluents.
1. Analysis about traits of an entreprencur

v.  Analysis on employment potential

d
11
v

1]

Match the items of Column-I with the 1tems of Column-I1 and suggest the correct code.

Column - I
a.  Relationship Banking

b.  Merchant Banking

¢. Indigenous Banking

d. Dcvelopment Banking

Codes :

a b &
(ry v 1 1
(2} 1 1V 11
(3) 1v 1 1
4y n 1 v

Column - I1
1. Dealing in hundis and acceptance ol deposits.
1. Widening the entrepreneurial base and assist in
a rapid rate of industrial growth,
1. Engaged in the business ol Issue Management.
iv. Creating, maintaining and cnhancing strong
relationship with customers.

d

i

11

1l

In which year, IFCI Act was amended in order to make 1t possible to provide assistance.
inter alia, for medical, health or other allied services ?

(hy 1960 (2y 1970
(3) 1973 4y 1986

SIDBI was set up as a subsidiary of IDBI to

(1}  Take over the functions of small business financing of IDBIL

(2)  Take over the venture capital operations ol ICICL

(3)  Reconstruct and rehabilitate the sick and closed mdustrial units financed by IDBI.
(4)  Facilitate, finance and promote India’s Forcign trade,

JA-008-17
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45, Letters of credit, Guarantees, Forward Contracts cte., comce under which one of the
following ?

(h
(2)
(3)
4)

46, Consider the following statements with regard for the “Theory ol Absolute Cost

[.1abihities of a bank
Asscts of a bank

Foreign exchange items ol a bank

Oft-balance shecet items of a bank

Advantage™ :

()

(ii)

(iii)

Productive efficiency differed among different countries because ol diversity n

natural and acquired resources possessed by them.

The differcnce in natural advantage manifests in varying climate, quality of land,

avallability of mimerals, water and other resources.

The diffcrence 1in acquired resources manifests in different levels of technology and

skills available.

[dentity the correct code from the following

(1)
(2)
(3)
(4)

None ol the statements 1s correct.

47. Match the items of List-1 with List-IT and indicate the correct code.

List -1
a.  Absolutc Cost
Advantage Theory
b. Comparativc Cost
Advantage Theory
¢. Factor  Endowment
Theory
d. Leconticf Paradox
Codes :
3] b &
tLE i v 111
(2) 1 v i
(33 A I 11
(4y 1 IV 11

Paper-II

11,

11,

V.

d

1l

v

11

List — IT
The cmpirical evidence based on US cxport of
labour mtensive goods challenging the lactor
cndowment theory.
A country having a dircct cost advantage in the
production ol a product on account ol greater
citicicney,
A country should produce and export a
commodity that primarily involves a factor of
production abundantly available within  the
country.
A country should specialize in the production
and export of a commodity In which 1t possesses
arcatest relative advantage,
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Match the 1items of List-I with List-1T and indicate the code of correct matching :

List -1 List - II
a.  Accommodating 1. Creation ol mternational reserve assets by
capital flow the IMFEF and their allocation among

member countries m order to improve
international liquidity,

b. Autonomous capital 1. Estimatc of foreign exchange flow on

[Tow account  of  either wvartations 1 the

collection of related figures or unrecorded
tllegal transactions of foreign exchange.

¢.  SDR Allocation i1, Inflow of forcign cxchange to mecet the
balance of payments deficit, normally
rom the IMF,

d. Statistical discrepancy  1v. Flow of loans/investments in normal
course of business.

Codes :

a b & d
(ly 1 1] v 11
() Y 1 11
(3) 1 v 1l 1
(4) 11 1 1 1V

Statement [ : TRIMS agreement relers 10 conditions or restrictions imposed on foreign
INVCSTOTS.

Statement IT : TRIMS agreement specifically forbids imposing restrictions on operalions
of an cnterprisc which result in protecting domestic products and making imports
disadvantagcous.

Codes :

(1) Statement I 1s correct, but I 1s incorrect.

(2)  Statement I 15 correct, but I 15 incorrect.

(3}  Both the statements I and IT arc correct.

(4y  Both the statements I and I arc incorrect.

Assertion (A) : Revenue from indirect taxes was the major source of tax revenue till tax
reforms were tuken during nineties.

Reason (R) : Traditionally India’s tax regime rclicd heavily on indircet taxes including
customs and excise.

Codes :

(1Y  (A)and (R) both are correct, but (R) is not the correet explanation of (A).

(2)  (A)i1s correct, but (R) 15 not correct,

(3)  (A) and (R) both are correct and (R) is the correct explanation of (A).

(4)y  (A)and (R} both are incorrect.
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